
Toutes les Opérations Avec des Sénaires (E)

Calculez chaque réponse.

5216
+ 1226

41206
× 306

113226
− 53146

45146
× 546

1234006|236 430206|206 45306
× 416

134016
− 41456

33456
× 546

122306
− 45526

51336
− 24146

54156
− 30026

122356
− 53106

400006|406 53316
+ 20206

41346
+ 31046

25136
− 14416

10016
+ 5146

452146|316 1546
× 426
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Toutes les Opérations Avec des Sénaires (E) Réponses

Calculez chaque réponse.

5216
+ 1226
10436

41206
× 306

2040006

113226
− 53146

20046

45146
× 546

4335246

1234006|236
32406

430206|206
21316

45306
× 416

3225306

134016
− 41456

52126

33456
× 546

3233226

122306
− 45526

32346

51336
− 24146

23156

54156
− 30026

24136

122356
− 53106

25256

400006|406
10006

53316
+ 20206
113516

41346
+ 31046
112426

25136
− 14416

10326

10016
+ 5146
15156

452146|316
13146

1546
× 426
122326
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